Problem 3

- |Aircraft Weight Characteristics

Weight (Ibs) |

|Maximum Structural Take off weight

220000

dil Maximum Strucutral Landing Weight

198000

Zero fuel weight

182513

- - |Operating empty weight

125513

 |Maximum structural payload

57000

75400

o " |Reserve fuel . C 25 h

[ - |Average speed _ _ |540 mile/h

f Fuel burning i

|28 1bs/mile|
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~+ Normal Take off Case

~ Lift off distance = 7000 ft

— Distance to clear 35 ft height = 8000 fi
Engine Failure

— Lift off distance = 8200 ft

— Distance to clear 35 fi height = 9100 fi
Engine failure aborted take off

— Accelerate stop distance = 9500 fi
Normal Landing

~ Stop distance = 5000 fi

"+ Determine the length of the runway
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,’Fmd out the length of runway having ﬁeld
length of 1800 m. The airport is located 450 m
~above mean sea level. The runway effectlvef
“gradient is 0.5%. The monthly mean maximum

~and mean dally temperature of hottest month'
:' of the year are 27 and 18 degree respectlvely
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